Installation manual
RotoShelf® 700 ColdFront

ceasyyfill

Clever store shelves

Version 1 - 3. 9. 2020



STANDARD SET - RotoShelf 700 ColdFront - TOP Art. No 0223-000
RotoShelf 700 ColdFront packing details PARTS RotoShelf 700 ColdFront packing details

Weight/ oty
item

SET Art Weight/ oty SET Art
it No

" Picture packing Picture Product name  Art. No oy BOX Picture packing Picture Product name

o
T o
< Shelf 70| 0153 410000 | 1811 ke| 1
o : 0 s
<
T & Bottom box | 0223-20000-0 kg| 1 n —
= 9 -
) z
g o5 N e e
S 7 '
S - =
SE
Q oN| 9 E Frontstopper
by 3 B UNIT0 0070-00113 | 0,235 kg| 1
N o & N H113mm
E 8 i Bottom part | 0120-39000-0 kg| 1 o &
¢ &
8' S8 Plastlabel
N S RSSOF1L 00450 | 0020 ko 1
(=} © 585437*0,8
o
e
=
2 g Divider 00393 | 0044 kg| 7
o a = |uni 70-90 white i
= = Adustable | 553 110000 k| 1
3 % " .
2 Shelf 70| 0193 410000 | 1,811 kg| 1
y Housing
<
W
< = Shelf 70
e
o § o?f Universalwhite| 40418 | 118 ke| 1
2 -
= Top 0223-30000-0 kg| 1 <
3| & ~| S E
) | o £ Frontstopper
g S S UNI70 007000113 | 0235 kg| 1
S elas H13mm
X
)
= o si Plastlabel
3 RS90F11 20050 | 0020 kg| 1
~ . o 585%37%0,8
=l = Top Shoulder | 0120-11006:0 | 1,109 kg| 1 2
& Divider
) = < |unizosowhie| 03| 004 kel 7
e o Shelf 70
X Conneciing mat. | 0223-40000-0 ke| 1 < Houwsing | 0195410000 | 1811 k| 1
0
~ 3
= 9y 3
3 g L7 l £
8 A Handle | 0193300000 | 0415 ke| 1 2 shelf 70 00418 | 1,195 kg| 1
a I o? Universal white
T
o J
~| S E
o e N Q E Frontstopper
2 Mousing | 0193410000 | 1811 kg| 1| =3 NI 70 007000113 | 0,235 kg| 1
3 o s R
M - o &
&
£ shelf 70 S8 Plastlabel
2 : 00418 | 1,195 kg| 1 3 RSSOF1L 00450 | 0020 k| 1
Universal white
Q 2 - s 58537°0,8
Sz 2
[ £ Frontstopper o
r = UNI 70 007000113 | 0,235 kg| 1 ] Gl 200303 0,044 kg| 7
~ 0 - o = |uni 70.50 white g
N &S H13mm
35
e
S e Plastlabel . shelt 70
3 RS90F11 400450 | 0020 ko 1 2 ) 0193410000 | 1811 kg| 1
o 5853708 0 Housing
2 <
£ I -
¥ EE
& Divider 5 Shelf 70
a Uni 0s0whie| 0% | 004 kel 7 o & Universalwhite| 2% | 118 ke| 1
i
(=g =
~| S E
o S0 N~ 8 3 Frontstopper
2 ; Housing | 015340000 | ikl 1[5 g uNI70 007000113 | 0,235 kg| 1
o A 3 S8 H13mm
I = o ﬁ
z shelf 10 S8 Plastlabel
2 . ’ 400418 | 1,195 kg| 1 3 RSSOF1L 00450 | 0,020 kg| 1
o2 _ R 2 Rt
. - o
= £
N £ Frontstopper X
- = UNI70 007000113 | 0,235 kg| 1 ] Divider 400393 0,044 kg| 7
IR o % -4 = |uni 7090 white !
« . mm
g 3
) § N Plastlabel
RSSOF1L 00450 | 0020 ko 1
% 585'37°08 s
2
Divider
& ni 70-s0whire| 1% | 004 kol 7 CI t h I




RotoShelf 700 CR
packing details

ACCESSORIES

ACCESSORIES - RotoShelf 700 ColdFront

Weight Qty

RotoShelf 700 CR
packing details

ACCESSORIES

Weight Qty

Picture Product name . Picture Product name .
/item /item
Shelf 70 Housing 0193-41000-0 | 1,811 kg| 1 Price List 0,050 kg| 1
; ) . ] Divider extender
; Shelf UNI 70 white 400418 1,195 kg (_ _ 889090 0,030 kg| 1
= L= L=483 mm
/
e Frontstopper UNI701 4076 00113 | 0,235 kg U Pusher 0118-00000-0 | 0,050 kg| 1
/ ‘ H 113 mm b
F Divider UNI 70-90 400393 0,044 kg Rollertrack 400392 0,150 kg| 1
|
A
: ' Plastlabel RS90F11 PETG-Shelftalker
- 400450 0,020 - - 0,030
~ 585%37+0.8 . kg <0 mm 0201-00010-0 . kgl 1
Frontstopper UNI 70 g Divider extender
H 100 mm 0070-00100 0,210 kg L=300 mm 889091 0,020 kg| 1
Frontstopper UNI70 | 447 00054 | 0,112 kg 0000-0006 0000-0006 kg| 1
H 54 mm
_— Frontstopper UNI 70 g ) \ . .
H 163 mm 0070-00163 0,345 kg Plastic bearing 0000-0027 kg 1
Plastic bearing 0000-0028 kg| 1

ceasyfill

Clever store shelves




0223 - Rotoshelf 700 ColdFront
e

595 - 800 mm

ww 0/S1 - 00St

ceasyfill

Clever store shelves



— -500 ml PET

- @ 65 mm
- 0,48 m2

|
|
i i -||"
10
@) 1‘
il
il | 1B -ll”
) 1]

.@

48



0223 - Rotoshelf 700 ColdFront

6

ceasyfill

Clever store shelves

SR RN TN T N

MULTIPLE

Y
IIIIIIII







@,‘
]
B M10 DIN 934
= 1x
==\
screw bit 10 mm ST 6,3x38 DIN 7976
as 11x
M10 DIN 985
tx
M8 DIN 934
D10 DIN 125 2x
1x é
S M8 x 16 DIN 603
0000-0006 ox
1x
allen key 4
1x

]
M10 x 40 DIN 933
1x

z
@?§> 0223-40000-0 (2x)

measuring tape l @ -«§"|eve| éhsyﬁll

Clever store shelves



Installation of frame

=

(S

—

M10 DIN 934

) =

M1

o

DIN 985

@;

D10 DIN 125
1x

e

S
0000-0006

M8 x 16 DIN 603
2x
1x

allen key 4
1x

0223-11000-0 |°
1x

M10 x 40 DIN 933 ' N
1x

N @ 0223-40000-0

0193-30000-0 0120-39000-0 + 0223-20000-0
1x 1x 1x

ceasyfill

Clever store shelves



Installation of bottom part 0223-20000-0 + 0120-39000-0
1

T y
ST 6,3x38 DIN 7976

/—ST 6,3x38 DIN 7976

ceasyfill

Clever store shelves



Installation of adjustable frame

T

T

i
o

\‘_

laosS,

% )

*h‘q_‘_‘\

——

=

-

*h‘___\

:
gy

)

ceasyfill

Clever store shelves



Installation of top part

Bottom and top — '
m 2alwaysthe same hole g

M10 DIN 934

M10 DIN 985
D10 DIN 125

ceasyfill

Clever store shelves




Installation of top part

M8 x 16 DIN 603

i} M8 DIN 934 N
‘4 s
% o
Q N
®

— L/R

ceasyfill

Clever store shelves




Installation of top part

$76,3x38 DIN 7976

ST 6,3x38 DIN 7976

ST 6,3x38 DIN 7976
@ ST 6,3x38 DIN 7976
| ST 6,3x38 DIN 7976
™ ——_
—~—_ ST63xIDINTIT6

ST 6,3x38 DIN 7976

ceasyfill

Clever store shelves



_—
-
_—
_—
-—_

ceasyfill

Clever store shelves



ceasyfill

Clever store shelves

=




BASE POSITION

[*1

o

T

ceasyfill

Clever store shelves




Installation shelves 0193-40000-0

ceasyfill

Clever store shelves



19

shelves

ceasyy/ill

Clever store




T
Y
b

-

o= __ ~ \ﬁ.
S / <
; \ — (o] \
., I m ,_,

f
r g "
&
4 \
! __ —
p =
/ ,
il
/ |

{ s
__ ™~
| ,,z
N
\
A
\
| \
| \
f \l \ . |
B R =
i 1 1 | | |
i _____ E i\ Lo _f /_____
1 Vo b |

—

___________._w___._._ﬁ_.______.__.________:____________.________ T[T

o = §
A |

T} TR P AR PN AR P r Ve,

rrrrrrr " 2

Y W oW @~ @ @ E T Nom oW oW e =~ @ @ B

T_;_LLM___”___.._:T,f___.__”_._?L_..?,T__r__”.:;______;:_r____:”:.T__:_

U

20

ceasyfill

Clever store shelves



ceasyfill

Clever store shelves

21



v

Ve
/
/ 4 Y
/
, D)/
/ )
/ { / //
Ié e 74 /] \
[ 1, Sl )

L e

- o w0~ § N e e

[7
[
\

(

J \
N
N\
'
,

\\\\

& !

I
\\\\\\\\\\\\\\\\\\\x\\\\n
= — 5
1SS / !

ALLEN KEY 4

sy/ill .

Clever store shelves

8




t/.ehsyﬁll 93

Clever store shelves

<
>
w o
b4
Q2
w
-
|
<

—

F\\Nﬁ |

jﬂ.«

R
Lo YY"\ )

20

19




ceasyfill

Clever store shelves



CLEANING

25

ceasyfill

Clever store shelves




Thanks!

www.easyfill.se

ACTUAL PRODUCT MAY VARY DUE TO PRODUCT ENHANCEMENT. 26
ALL CHANGES ARE RESERVED BY EASYFILL. Clever store shelves

ALL PICTURES SHOWN ARE FOR ILLUSTRATION PURPOSE ONLY. t/_eésy‘ﬁll



